-Ys

s 12 |4 J“_,S’(x-s)(x»t%’

oz 3 ' (x-3)3r+0)
b--s -(-9)t r (-5)"-H(3)(-12) '
c:-lz al)

5+13 é*TIS Stizsriad . 52V 14

L; = 728" ¢ 5113 ’

¥ Yy (k)00 T

o
N

10 pts total, 2.5 pts each) Evaluate the discrimi

nant gf.the equation. Indicate the
number of real roots for each.
~b Jb-tacP
X - dx + 4 h

- z a
o= | % —‘(ag\ 2
p-" (,q)—H(N"D

c:'-l 1o -lb =0 I 1 ru‘ Mo"";

b)) —2x2 + 6x — 14
O o b~ Hac

o~ -¢ J_
b= b (63 - Y42)-w)
c- - 3, -1z = -76

.g,\,. (‘oo"‘S
c) x2 +9x + 18 |’0r/_)

d) 2x* + 11x — 21



6.) (15 pts total, 7.5 pts each) Solve using the Quadratic Equation.

a) x2=3x+2

32 5 12 Fird 2tos
X — X = —

+2 *\2 "ltJ Yo
3x% Sx +12:=0 Ao
a:3 =(-9)1[(-5*- WsNn)
b--9 20%)

C: 12 5'—"‘ 2€ — 14y
‘,
(™
52{-1n4

—_—

b
(
. 5t 1\g
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7.) (15 pts total, 7.5 pts each) Place each equation in vertex form by completing the square.
Please show all your work.

a) x> =5x+ 14



COMP\Lti He Ssz

@2x2+6x—7:0 . 2020‘1-

(Zx * ‘p,() 1=0 Zy/-FAoLrou"-o.

ZMA."
}9‘“"‘) R

o ’ j_ 4. wwe roet
t) i L “(Z) )st"‘nm’\(a"‘

q

b 2Cod)-1-F _aqy -185*_ -9

(‘# 2 "l T— ‘( -2 z
lz x+%) _g. — 7.0 ’%P}

8.) (20 each equatlonm Plot all roots, intercepts,
and the vertex. (K"’ )(X"‘i) X 43)“"%
% NN N D
S io #2 Z‘-\XS’ X|A{‘=w¢$i::i:':f:f:"'
fute— s (0495 sEEEEEEE)
[3) wy 4
(X ’qx "'“) ﬁ ........
(x "7') - Vu"w (1) »1
f’& XOow MuS‘(
N\ 2 - X’ll\+(s)
x- — 4
p — \3 r.l\.“‘
Scemariv | — verdex
2005 — V’J‘\‘(—X |

b-4ac ‘| letzo
L I 1 9 1 |
h y£ {36 .
YGrws) = e e AVusge of wases
— 2y ULt ~145=4 52

200 ., iy
(@) -Y)-s= Y-§-5° -9






